Challenge #7

Suppose Ada wants to cut 15 butcher-paper banners, each 5 meters
in length. She measures the first, cuts it, then uses that one to cut the
next, uses the second to cut the third, and so on.

What are the possible lengths of the 25th banner if each time she
cuts, there is a maximum error of £ 1cm?

What are the possible lengths of the 25th banner if each time she
cuts there is a maximum error of £0.1%?



Challenge #7 Solution

Suppose Ada wants to cut 15 butcher-paper banners, each 5 meters
in length. She measures the first, cuts it, then uses that one to cut the
next, uses the second to cut the third, and so on.

@ What are the possible lengths of the 25th banner if each time she
cuts, there is a maximum error of + 1cm? | cm= D.olm

What are the possible lengths of the 25th banner if each time she
cuts there is a maximum error of +0.1%? 0.1'2= 0.0ol
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